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1 Question Description Under Indian Stamp Act 1899 all instruments chargeable with duty and executed by any person in India shall be
stamped

A Before the time of execution

B At the time of execution

C Before or at the time of execution

D After the time of execution

E None of the above

Correct Answer C

Marks 1



2 Question Description For the purpose of conversion, the land under Sec.32(6)(i) of Goa Land Revenue Code , divided into ------

A Two categories

B Three categories

C Four categories

D Five categories

E None of the above

Correct Answer B

Marks 1

3 Question Description Which of the following section deals with definition of Stamp under Indian Stamp Act 1899

A Sec.2(26)

B Sec.2(27)

C Sec.2(19)

D Sec.2(20)

E None of the above

Correct Answer A

Marks 1



4 Question Description Who can inspect the Register and filed documents at the office of the Registrar:

A Any Government servant

B The Partners of the firm

C The partners of the other firms

D Any person

E None of the above

Correct Answer D

Marks 1

5 Question Description Which of the following section under Information Technology Act 2000 held unconstitutional in the year 2015

A Sec.66

B Sec.66 A

C Sec.66 B

D Sec.66 C

E None of the above

Correct Answer B

Marks 1



6 Question Description Under Art.14 of Family lawsNo. I of Goa ( Civil Code)The annulment of marriage as per Art.5 and 13 may be sought
only by the concerned minor spouse , within -----------from the date of attaining the legal majority

A three months

B six months

C one year

D two years

E None of the above

Correct Answer B

Marks 1



7 Question Description The preamble of the Indian Constitution adopted on 26th November 1949 did not include the terms
i) Socialist ii) Secular iii) integrity iv) Republic
Select the correct answer using the codes given below

A i, ii and iii

B ii, iii and iv

C i, ii and iv

D iii and iv

E None of the above

Correct Answer A

Marks 1



8 Question Description Which option is not correct under Indian Evidence Act 1872

A Expert Evidence under Sec.45 of Indian Evidence Act 1872

B Hostile Witness under Sec.154 of Indian Evidence Act 1872

C Dumb witness under Sec.120 of Indian Evidence Act 1872

D Competency of witness under Sec.118 of Indian Evidence Act 1872

E None of the above

Correct Answer C

Marks 1



9 Question Description Find out correct statement(s) from the following
i) A void marriage remains valid until a decree annulling it has been passed by a competent court
ii) A void marriage is never a valid marriage and there is no necessity of decree annulling it
iii) A voidable marriage is regarded as valid subsisting marriage until a decree annulling it has been passed by a
competent court
Select the correct answer using the codes given below

A i and ii are correct

B Only ii is correct

C ii and iii are correct

D all three are correct

E None of the above

Correct Answer C

Marks 1



10 Question Description Gift of an immovable property -----

A can be oral and mere delivery enough

B has to be in writing only and no need of registration

C Has to be in writing and registration is mandatory .

D All of the above

E None of the above

Correct Answer C

Marks 1



11 Question Description Which of the following organizations are not exempt from the Right to Information Act 2005 by virtue of Sec.24 of
the Act ?

A No organization is exempted by the section 24 of the Act

B Special service Bureau

C Financial Intelligence Unit, India

D National Intellignece Grid

E None of the above

Correct Answer B

Marks 1



12 Question Description Which of the following rights are available only to the citizens within the territory of India?
i. Freedom of speech
ii. Right to form associations/ unions
iii. Equality before law
iv. Freedom to assemble peacefully and without arms

Select the correct answer using the codes given below

A i, ii and iii

B ii, iii and iv

C i, iii, and iv

D All of these

E None of the above

Correct Answer D

Marks 1



13 Question Description By which amendment, the third and fourth schedules of the IT Act were omitted?

A Act 09 of 2009

B Act 66 of 2009

C Act 55 of 2002

D Act 10 of 2009

E None of the above

Correct Answer D

Marks 1

14 Question Description Judicial Notice under Indian Evidence Act 1872 means

A To ask for evidence

B To recognize without proof something as existing

C Notice given by the Court

D Information given to the court

E None of the above

Correct Answer B

Marks 1



15 Question Description Which of the following bodies comes under the purview of Right to Information Act ( RTI) ?
i) Narcotic Control Bureau
ii) Enforcement Directorate
iii) Research analysis wing
Select the correct answer using the codes given below

A i and iii

B ii and iii

C i and ii

D None of i, ii and iii

E None of the above

Correct Answer D

Marks 1



16 Question Description When there is any change in the constitution of the firm, what would be the statue of the continuing guarantee given to
the firm

A It shall be revoked as to future transactions from the date of any change in the constitution of the firm.

B Since it is the continuing guarantee, hence it be continuing.

C Only the parties to the continuing guarantee can only decide over the matter.

D All of the above.

E None of the above

Correct Answer A

Marks 1



17 Question Description As per the provisions of the right to information Act 2005 the State Chief Information Commissioner is appointed by
the

A The Chief Minister of the State concerned

B The Prime Minster of India

C The President of India

D The Governor of the State concerned

E None of the above

Correct Answer D

Marks 1



18 Question Description Under Registration of Births and Deaths Act 1969 ,any birth or death which has not been registered within one year of
its occurrence, shall be registered only ----

A On payment of such late fee as may be prescribed

B With written permission of the prescribed authority and on payment of the prescribed fee and the production of an
affidavit made before notary public

C On an order made by a Magistrate of the first class after verifying the correctness fo the birth or death and on payment
of the prescribed fee.

D All of the above

E None of the above

Correct Answer C

Marks 1



19 Question Description Under Hindu Succession Act who among the following will rank first as heir ?

A Widow

B Mother

C Widow of a predeceased son

D All of the above

E None of the above

Correct Answer E

Marks 1

20 Question Description Which of the following mortgage need not be registered

A Simple Mortgage for rupees more than Rs.100

B Mortgage by Conditional Sale

C English Mortgage

D Equitable Mortgage

E None of the above

Correct Answer D

Marks 1



21 Question Description Under which section of Hindu Marriage Act 1955 Judicial Separation has been provided

A Sec.9

B Sec.10

C Sec.13

D Sec.11

E None of the above

Correct Answer B

Marks 1



22 Question Description Which of the following can be termed Gandhian ideology among the Directive principles
i) Prevention of cow slaughter
ii) Promotion of cooperative societies
iii) Establishment of village panchayat
iv) Uniform civil code for the country

Select the correct answer using the codes given below

A i and ii

B ii and iii

C i, ii and iii

D All of these

E None of the above

Correct Answer C

Marks 1



23 Question Description According to rules contained in which section of Hindu Succession Act 1956 distribution of property among heirs in
Class I of the schedule is done

A Sec.10

B Sec.8

C Sec.6

D Sec.7

E None of the above

Correct Answer A

Marks 1



24 Question Description Any person who removes any natural product (not being trees), without proper authorization, from any land which is
set apart for a special purpose under Sec.18 of The Goa Land Revenue Code or from any land which is the property of
the Government any is liable to the Government for the value of the natural product so removed and in addition, the
person is also liable to fine not exceeding -----------------the value of the removed product.

A Two times

B Three times

C Four times

D Five times

E None of the above

Correct Answer D

Marks 1



25 Question Description Under Registration of Births and Death Act and Goa rules, any births or death which has not been registered within one
year of its occurrence, can be registered only

A With the written permission of the officer specified in this behalf and on payment of late fee

B On an order of an magistrate of first class and on payment of fine

C On payment of late fee

D With the permission of chief Registrar on payment of late fee

E None of the above

Correct Answer B

Marks 1



26 Question Description Which of the following chapter of the Land Revenue Code deals with the powers and duties of survey officers

A Chapter II

B Chapter III

C Chapter IV

D Chapter V

E None of the above

Correct Answer D

Marks 1



27 Question Description Which of the following statements are incorrect about the difference between the writ jurisdiction of the Supreme Court
and High Courts in India?
i) The Supreme Court can issue writs not only for the purpose of enforcement of Fundamental Rights but also for any
other purpose, whereas High Courts can issue writs only for the purpose of Fundamental Rights
ii) High Courts can issue the writ of Injunction, whereas the Supreme Court cannot issue the writ of Injunction
iii) The Supreme Court can issue writs only in the case of appeal, whereas High Courts can issue writs only when the
party directly approaches it.
iv) High courts can issue writs not only for the purpose of enforcement of Fundamental Rights but also for any other
purpose, whereas the Supreme Court can issue writs only for the purpose of enforcement of Fundamental Rights.
Select the correct answer using the codes given below

A i and ii

B i, ii and iii

C ii and iii

D iv only

E None of the above

Correct Answer B

Marks 1



28 Question Description who among the following is Class II heir as per Hindu Succession Act 1956

A Son

B Daughter

C Mother

D Father

E None of the above

Correct Answer D

Marks 1



29 Question Description Under Sec.57 (3) of Information Technology Act 2000 every appeal shall be filed within a period of ---------days from
the date on which a copy of the order made by the controller or the adjudicating officer is received by the person
aggrieved.

A 30 days

B 45 days

C 60 days

D 90 days

E None of the above

Correct Answer B

Marks 1



30 Question Description Under the Registration Act 1908, a registered document operates

A From the date of its registration

B Form the date of its execution

C From the date as given for the operation of the document, in the document

D Either of the aforesaid date

E None of the above

Correct Answer B

Marks 1



31 Comprehension Read the following passage and answer the questions given below:
Nevertheless, there is a type of literature in which the writer becomes the centre of what he writes. About the end of Middle ages
men all over Europe began to awaken to a new fact—that they need no longer go on telling the old stories, preaching the same
sermons, singing the same battle-songs. A new sense of freedom and liberty had come to them. The song became the expression of
the singer’s own feeling, his joy, or sorrow, or love, or hate. History and story had often been put down, strangely and
superstitiously often, without a comment or opinion on the part of him who wrote them. Now the writer began to express his own
ideas and thought on the matter.

Question Description The passage implies that at the end of the Middle Ages, writing of songs became more -------than before.

A objective

B subjective

C emotional

D spontaneous

E None of the above

Correct Answer B

Marks 1



32 Comprehension Read the following passage and answer the questions given below:
Nevertheless, there is a type of literature in which the writer becomes the centre of what he writes. About the end of Middle ages
men all over Europe began to awaken to a new fact—that they need no longer go on telling the old stories, preaching the same
sermons, singing the same battle-songs. A new sense of freedom and liberty had come to them. The song became the expression of
the singer’s own feeling, his joy, or sorrow, or love, or hate. History and story had often been put down, strangely and
superstitiously often, without a comment or opinion on the part of him who wrote them. Now the writer began to express his own
ideas and thought on the matter.

Question Description “History and story had often been put down, strangely and superstitiously often, without a comment or opinion on the part of him
who wrote them. Now the writer began to express his own ideas and thought on the matter”.
The above statement implies that the writing of history and story was now

A revolutionized

B revised

C repealed

D reprised

E None of the above

Correct Answer A

Marks 1



33 Comprehension Read the following passage and answer the questions given below:
Nevertheless, there is a type of literature in which the writer becomes the centre of what he writes. About the end of Middle ages
men all over Europe began to awaken to a new fact—that they need no longer go on telling the old stories, preaching the same
sermons, singing the same battle-songs. A new sense of freedom and liberty had come to them. The song became the expression of
the singer’s own feeling, his joy, or sorrow, or love, or hate. History and story had often been put down, strangely and
superstitiously often, without a comment or opinion on the part of him who wrote them. Now the writer began to express his own
ideas and thought on the matter.

Question Description The passage implies that earlier the writing of history and story was

A strange and superstitious

B opinionated

C commentary like

D All of the above

E None of the above

Correct Answer D

Marks 1



34 Comprehension Read the following passage and answer the questions given below:
Nevertheless, there is a type of literature in which the writer becomes the centre of what he writes. About the end of Middle ages
men all over Europe began to awaken to a new fact—that they need no longer go on telling the old stories, preaching the same
sermons, singing the same battle-songs. A new sense of freedom and liberty had come to them. The song became the expression of
the singer’s own feeling, his joy, or sorrow, or love, or hate. History and story had often been put down, strangely and
superstitiously often, without a comment or opinion on the part of him who wrote them. Now the writer began to express his own
ideas and thought on the matter.

Question Description The shift that came in the world of literature, as detailed in the passage, can be best described as the

A reformation

B restriction

C renaissance

D revival

E None of the above

Correct Answer C

Marks 1



35 Comprehension Read the following passage and answer the questions given below:
Nevertheless, there is a type of literature in which the writer becomes the centre of what he writes. About the end of Middle ages
men all over Europe began to awaken to a new fact—that they need no longer go on telling the old stories, preaching the same
sermons, singing the same battle-songs. A new sense of freedom and liberty had come to them. The song became the expression of
the singer’s own feeling, his joy, or sorrow, or love, or hate. History and story had often been put down, strangely and
superstitiously often, without a comment or opinion on the part of him who wrote them. Now the writer began to express his own
ideas and thought on the matter.

Question Description It can be deduced from the passage that the main subject matter of literary activity in the Middle Ages was

A history, story and poetry

B lore, religious sermons and war

C history, literature and story

D lore, poetry and history

E None of the above

Correct Answer B

Marks 1



36 Comprehension Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students
possess better memory and can reproduced the subject-matter in the same manner in which they have studied. Whereas majority of
students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but
in recalling it at the time of revision or in the examination. Why these differences in the mental faculties? These differences in the
memory can be attributed to various factors such as in-born qualities, social set-up, reading habits, concentration during study,
interest in grasping the subject-matter etc. …Memory can be sharpened by regular practice and the technique of study. A good
memory promises you good knowledge, which in turn brings better scores in the examination.

Question Description Read the following options and choose the closest in meaning to the phrase “ God-gifted quality”

A Divine feature

B Divine characteristic

C God-given attribute

D God-given gift

E None of the above

Correct Answer C

Marks 1

37



Comprehension Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students
possess better memory and can reproduced the subject-matter in the same manner in which they have studied. Whereas majority of
students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but
in recalling it at the time of revision or in the examination. Why these differences in the mental faculties? These differences in the
memory can be attributed to various factors such as in-born qualities, social set-up, reading habits, concentration during study,
interest in grasping the subject-matter etc. …Memory can be sharpened by regular practice and the technique of study. A good
memory promises you good knowledge, which in turn brings better scores in the examination.

Question Description Identify from the passage the word or phrase synonymous to “inherent cognitive or perceptual powers of the mind”

A concentration

B in-born qualities

C memory

D mental faculties

E None of the above

Correct Answer D

Marks 1

38



Comprehension Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students
possess better memory and can reproduced the subject-matter in the same manner in which they have studied. Whereas majority of
students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but
in recalling it at the time of revision or in the examination. Why these differences in the mental faculties? These differences in the
memory can be attributed to various factors such as in-born qualities, social set-up, reading habits, concentration during study,
interest in grasping the subject-matter etc. …Memory can be sharpened by regular practice and the technique of study. A good
memory promises you good knowledge, which in turn brings better scores in the examination.

Question Description The factors such as in-born qualities, social set-up, reading habits, concentration during study, interest in grasping the subject-
matter etc. are known to -------------.

A affect memory

B be the factors of differences

C cause differences

D differentiate in memory

E None of the above

Correct Answer A

Marks 1



39 Comprehension Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students
possess better memory and can reproduced the subject-matter in the same manner in which they have studied. Whereas majority of
students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but
in recalling it at the time of revision or in the examination. Why these differences in the mental faculties? These differences in the
memory can be attributed to various factors such as in-born qualities, social set-up, reading habits, concentration during study,
interest in grasping the subject-matter etc. …Memory can be sharpened by regular practice and the technique of study. A good
memory promises you good knowledge, which in turn brings better scores in the examination.

Question Description Based on the sense of the passage, and state whether the following statements are true or false:
(i) Memory is sharp, that it can lose its sharpness.
(ii) Regular practice and methodical study can help improve it.

A (i) is false; but (ii) is true.

B both the statements are false.

C (i) is true; but (ii) is false.

D both the statements are true.

E None of the above

Correct Answer A

Marks 1



40 Comprehension Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students
possess better memory and can reproduced the subject-matter in the same manner in which they have studied. Whereas majority of
students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but
in recalling it at the time of revision or in the examination. Why these differences in the mental faculties? These differences in the
memory can be attributed to various factors such as in-born qualities, social set-up, reading habits, concentration during study,
interest in grasping the subject-matter etc. …Memory can be sharpened by regular practice and the technique of study. A good
memory promises you good knowledge, which in turn brings better scores in the examination.

Question Description “A good memory promises you good knowledge.”
Identify from the statements given below, the closest equivalent to the above sentence.

A A bad memory does not promise you a good knowledge.

B A good memory does not promise you a bad knowledge.

C A bad memory does not promise you a bad knowledge.

D A bad memory promises you good knowledge.

E None of the above

Correct Answer A

Marks 1



41 Question Description Which company has won the order for setting up Haryana's first ultra-supercritical power plant?

A Tata Power

B Adani Power

C BHEL

D Reliance Power

E None of the above

Correct Answer C

Marks 1

42 Question Description What is the name of the ChatGPT-style AI service set to be launched by Reliance Industries?

A GPTech

B ReliAI

C Hanooman

D ChatReliance

E None of the above

Correct Answer C

Marks 1



43 Question Description Which Indian state has declared the Gupteswar forest as its fourth Biodiversity Heritage Site (BHS)?

A Kerala

B Odisha

C Karnataka

D Tamil Nadu

E None of the above

Correct Answer B

Marks 1

44 Question Description What is the purpose of the SWATI Portal launched?

A Empower Women in science and technology

B Promote environmental sustainability

C Enhance global cooperation in education

D Support entrepreneurship initiatives

E None of the above

Correct Answer A

Marks 1



45 Question Description Who surpassed Anil Kumble to become India’s leading wicket-taker in Tests at home?

A Ravichandran Ashwin

B Jasprit Bumrah

C Ravindra Jadeja

D Mohammed Shami

E None of the above

Correct Answer A

Marks 1

46 Question Description Which organization recently unveiled the MilkyWay tablet in India?

A Samsung

B Epic Foundation

C Apple

D Microsoft

E None of the above

Correct Answer B

Marks 1



47 Question Description In which state will the Prime Minister unveil the 125-foot statue of Bir Lachit Borphukan?

A Manipur

B Meghalaya

C Assam

D Tripura

E None of the above

Correct Answer C

Marks 1



48 Question Description Which countries are set to introduce India's Unified Payments Interface (UPI) and RuPay card services on February
12?

A Bangladesh and Nepal

B Sri Lanka and Mauritius

C Nepal and Mauritius

D Sri Lanka and Bangladesh

E None of the above

Correct Answer B

Marks 1



49 Question Description When is World Radio Day celebrated annually?

A February 10

B February 13

C February 16

D May 8

E None of the above

Correct Answer B

Marks 1

50 Question Description What type of missile is the SAMAR air defence system?

A Anti-Tank Missile

B Surface-to-Air Missile

C Cruise Missile

D Air-to-Surface Missile

E None of the above

Correct Answer B

Marks 1



51 Question Description Generation Xers are those people born roughly between 1965 and 1981. As employees, Generation Xers tend to be
more challenged when they can carry out tasks independently. This makes Generation Xers the most entrepreneurial
generation in history.
This paragraph best supports the statement that Generation Xers

A work harder than people from other generations.

B have a tendency to be self-directed workers

C have an interest in making history

D tend to work in jobs that require risk-taking behavior.

E None of the above

Correct Answer B

Marks 1



52 Question Description The following questions are based on the two-digit numbers given below:
 
91        82        64          49           81

If each number is made to increase or decrease to a closest perfect square, which number before change will
become the third highest number?

A 64

B 81

C 82

D 59

E None of the above

Correct Answer B

Marks 1



53 Question Description What will be the addition of the third digit from the right end and the fourth digit from the left end of the number
‘768395241’ after arranging all its digits in descending order?

A 8

B 12

C 17

D 15

E None of the above

Correct Answer E

Marks 1



54 Question Description

A 48

B 143

C 58

D 128

E None of the above

Correct Answer A

Marks 1



55 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



56 Question Description

A 43,32

B 55,65

C 43,48

D 43,55

E None of the above

Correct Answer D

Marks 1



57 Question Description Question below consists of a question and three Statements numbered I, II and III given below it. You have to
decide whether the data provided in the statements are sufficient to answer the question:
Six persons – A, B, C, D, E and F are sitting in a circular table facing to the center and each belongs to different State
– P, Q, R, S, T and U then, who sits immediate right of the one who belongs to R?
 

I. C, belongs to Q and sits second to the right of one belongs to T, who is facing A. E sits third to the left of D, who is
an immediate neighbor of one who belongs to U and F sits second to the right of D who belongs to S.
 

II. B sits second to the left of one who belongs to P, who sits second to the left of A. One who belongs to Q is facing B,
who is an immediate neighbor of one who belongs to S.
 

III. F belongs to T and sits second to the right of D, who sits third to the left of E. One who belongs to U sits
immediate right of D.

A Both statements I and II together are sufficient.

B Both statements II and III together are sufficient

C Both statements I and III together are sufficient.

D All statements I, II and III together are necessary

E None of the above

Correct Answer B

Marks 1



58 Question Description Certain numbers are given, out of which all except one share some common property and hence are alike, while
one is different and this number is to be chosen as the answer
32, 13, 51, 24, 46, 20, 72, 45

A 13

B 20

C 72

D 46

E None of the above

Correct Answer A

Marks 1



59 Question Description Read the following information carefully and answer the questions given beside.
 
“Backlog disc live heavily” is coded as “ 2$A 4#I 8$E 12#I ”
 

“Innocent band actress salute” is coded as ” 2#A 1$C 9%N 19&A”
 

“Notify selfish model change” is coded as “14&O 13!O 19$E 3&H”
 

“Langer hill external limelight” is coded as “12&A 12@I 8#I 5%X”

Find the code for "Easy goals fulfilled"?

A 5#A 6!O 7@U

B 7$A 8!O 6@U

C 5#A 7!O 6@U

D 5$A 7!O 6%U

E None of the above

Correct Answer C

Marks 1



60 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer B

Marks 1



61 Question Description Choose the statement that is best supported by the information given in the question passage.

Most Reality TV centers on two common motivators: fame and money. The shows transform waitresses, hairdressers,
investment bankers, counselors, and teachers, to name a few, from obscure figures to house-hold names. A lucky few
successfully parlay their fifteen minutes of fame into celebrity. The luckiest stars of Reality TV also reap huge
financial rewards for acts including eating large insects, marrying someone they barely know, and revealing their
innermost thoughts to millions of people.
This paragraph best supports the statement that

A the stars of Reality TV are interested in being rich and famous.

B Reality TV is the best thing that has happened to network television in a long time.

C for Reality TV stars, fame will last only as long as their particular television show.

D traditional dramas and sitcoms are being replaced by Reality TV programming at an alarming rate.

E None of the above

Correct Answer A

Marks 1



62 Question Description Which word does NOT belong with the others?

A seat

B rung

C cushion

D leg

E None of the above

Correct Answer C

Marks 1



63 Question Description In each of the following question, there is a certain relationship between two given pair on both side of '::' . One
word is given on another side of '::' while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options.
MAD : JXA :: RUN : ?

A OSQ

B PRJ

C UXQ

D ORK

E None of the above

Correct Answer D

Marks 1



64 Question Description How many such pairs of letters are there in the word “ATTRACTION”, each of which has as many letters between
them in the word (in both forward and backward directions) as they have between them in the English alphabetical
series?

A One

B Two

C Four

D Three

E None of the above

Correct Answer B

Marks 1



65 Question Description Choose the correct alternative from the given ones that will complete the series.
50   59   75    100   ?

A 215

B 121

C 136

D 125

E None of the above

Correct Answer C

Marks 1



66 Question Description Look at this series: 83, 73, 93, 63, __, 93, 43, ... What number should fill the blank?

A 33

B 53

C 73

D 93

E None of the above

Correct Answer B

Marks 1



67 Question Description Eight people A, B, C, D, E, F, G and H are sitting around a circular table but not necessarily in the same order. Some
are facing inside and some are facing outside. Not more than two people facing same direction are sitting together.
 

H sits third to the right of C who is not facing outside. Immediate neighbours of H are facing same directions with
respect to each other but opposite direction with respect to H who is facing inside. B is the immediate neighbour of E
and both are facing same direction. E sits second to the left of C who is not the immediate neighbour of B. There are
equal number of persons facing inside and outside direction. B sits third to the left of A and both are facing opposite
directions to each other. H sits to the immediate right of D. F sits second to the left of G.

How many persons are sitting between A and G while counting from left of G?

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



68 Question Description In question, some statements are given, followed by two conclusions I and II. You have to consider the
statements to be true, even if they seem to be at variance from commonly known facts. You have to decide which
of the given conclusions, if any, follow from the given statements. Indicate your answer.
Statements : 
All rivers are seas.
All lakes are seas.
Some seas are not oceans. 
 

Conclusions : 
I. Some rivers are not lakes. 
II. Some oceans may not be seas.

A If only conclusion I follow

B If only conclusion II follow

C If neither conclusion I nor conclusion II follows

D If both the conclusions follow

E None of the above

Correct Answer B

Marks 1



69 Question Description Six books – English, Hindi, Science, Computer, Maths, and Sanskrit each contains different number of pages.
Computer book contains fewer pages than only two books. English book contains more pages than Science book but
less than Sanskrit book. Science book does not contain least pages. Sanskrit book contains fewer pages than Hindi
book. The book which contain third lowest pages contain 28 pages.  
 
If Sanskrit and Computer books contain 89 pages together and Computer and English book contains 63 pages
together then what is the number of pages that Sanskrit book contains?

A 63 pages

B 54 pages

C 70 pages

D 57 pages

E None of the above

Correct Answer B

Marks 1



70 Question Description Each of the following questions contains a small paragraph followed by a question on it. Read each paragraph carefully
and answer the question given below it.

It is up to our government and planners to devise ways and means for the mobilisation of about ten crore workers
whose families total up about forty crore men, women and children. Our agriculture is over-manned. A lesser number
of agriculturists would mean more purchasing or spending power to every agriculturist. This will result in the shortage
of man-power for many commodities to be produced for which there will be a new demand from a prosperous
agrarian class. This shortage will be removed by surplus man-power released from agriculture as suggested above.

The passage best supports the statement that:

A employment in production is more fruitful than employment in agriculture.

B Indian economy is in a poor shape basically due to improper mobilisation of man-power.

C a shift of labour from agricultural sector to the industrial sector would uplift the living standard.

D the industrial sector is labour-deficient while the agricultural sector is over-manned in our country.

E None of the above

Correct Answer B

Marks 1



71 Question Description Read the given information carefully and answer the questions given beside:

In a family of some persons Bhanu says that Reshma is the daughter of my sister Banti, who is the only daughter of
Tamanna. Rahul is the child of Tamanna and Farhan, who is the grandmother of Harish. Krishna is the mother of
Mohan, who is the only sister of Harish. Rahul is unmarried.
Which of the following statements is possibly false?

A Banti is a sister of Rahul.

B Tamanna is maternal grandfather of Reshma.

C Harish is a nephew of Rahul

D Farhan is mother-in-law of Krishna

E None of the above

Correct Answer C

Marks 1



72 Question Description

A 8

B 10

C 11

D 12

E None of the above

Correct Answer B

Marks 1
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Question Description These questions are based on the following information, read the comprehension carefully to answer the given
questions.
 
Seven persons - I, J, K, L, M, N, and O have their birthdays in different months - January, March, April, June, July,
September, and December, but not necessarily in the same order.
 

I’s birthday falls in month having 31 days. J’s birthday month is after I’s birthday month. N’s birthday falls in month
having 31 days. J’s birthday month comes after N’s birthday month. L has birthday in a month having 30 days. K has
birthday in a month having 31 days but not in July and March. M’s birthday fall in a month having 30 days but before
September. O’s birthday month is not after J’s birthday month. J’s Birthday is not in December. M birthday falls before
O but not in the month of June. Only three persons have birthday between N and L.

How many persons have birthday after M?

A 1

B 2

C 3

D 4

E None of the above

Correct Answer D

Marks 1



74 Question Description A Car moves 8m from Point A in the north direction to reach Point B. Then it turns and moves for 10m in north-west
direction. Then it turns and moves 8m in south direction. Then it turns right and moves for 3m to reach point C, which
is in west direction with respect to Point B. Then finally, it turns and moves for 10m in south-west direction to reach
Point D, which is west direction with respect to Point A.
 
What is the shortest distance between Point A and Point D?

A 12m

B 15m

C 17m

D 20m

E None of the above

Correct Answer B

Marks 1
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Question Description

A A

B B

C C

D D

E None of the above

Correct Answer D

Marks 1


